
 

   

 

CB6 231562 231561 231563 231564 

CB9 240858 240859 240860 240861 

CB6 231562 231561 

CB9 240859 240858 

Amendment 5

Cobra Series Gas Barbeque -                       ©  Copyright Moffat Ltd.  01 May 2018

 To SN 1787999

1



 

8 

  ©  Copyright Moffat Ltd.  01 May 2018 

 

 

 To SN 1787999

2

    Cobra Series Gas Barbeque -  to Ser No1787999 Amendment 5



 

   

 

Number of units in service  

A 1-5 

B 5-10 

C 10-50 

D 50+ 

Item Part No. Description *RPL 

1 229883 SIDE PANEL LH D 

2 229882 SIDE PANEL RH D 

3 229879 FRAME WA D 

4 230585 SPLASHBACK D 

5 
227445 BURNER SUPPORT  1) D 

233729 BURNER SUPPORT  2) D 

6 231479 BACK PANEL D 

7 229870 RADIANT CASTING COBRA D 

8 230587 COBRA BADGE D 

9 229869 GRATE COBRA D 

10 229860 INNER RADIATION PANEL D 

11 230584 HOB FRONT WA D 

12  230513 CONTROL PANEL D 

13 230586 PIEZO IGNITOR A 

14 
228047 HT LEAD A 

229731 HT LEAD 250mm RING TERMINAL (from Serial No. 472383) A 

15 229951 DRIP TRAY C 

17 230577 LEG MTG PLATE COBRA D 

18 234059 LEG 2 INCH ASSEMBLY COBRA D 

19 229674 REAR ROLLER ASSEMBLY D 

20 229671 LEG RING PLATE THREADED D 

  1) 
Up to Lot.No 0924xxx  (Not interchangeable) 

  2) 
From Lot.No 0925xxx  (Not interchangeable) 

Amendment 5

                        ©  Copyright Moffat Ltd.  01 May 2018

 To SN 1787999

3

Cobra Series Gas Barbeque - to Ser No1787999



 

8 

  ©  Copyright Moffat Ltd.  01 May 2018 

 

Number of units in service  

A 1-5 

B 5-10 

C 10-50 

D 50+ 

Item Part No. Description *RPL 

21 230441 BURNER C 

22 229852 MANIFOLD (CB6) D 

Not Shown 241887 TEST POINT SCREW C 

23 
228533 REGULATOR 1/2" CONVERTABLE C 

230185 REGULATOR RV48LM-66-0024 (Town Gas) C 

24 019624 ELECTRODE (Included in Kit 019464K) A 

25 019464K PILOT BURNER SIT 3-WAY A 

26 

018972 PILOT INJECTOR 0.45 NAT A 

018971 PILOT INJECTOR 0.30 LPG A 

026393 PILOT INJECTOR 0.75 Town Gas A 

27 019218 THERMOCOUPLE 450MM A 

28 230319 FLEX TUBE 12"X1/4"OD S/S D 

29 026060 PRESSURE TEST SCREW PLUG B 

30 230608 KNOB ASSY BBQ-TOASTER B 

31 

022686 6" FLEXITUBE D 

227559 OLIVE 3/8"  

227560 NUT 3/8"  

015152 OLIVE 3/8"  

015153 NUT 3/8"  

32 227375 INJECTOR MOUNTING BUSH D 

33 025093 LOCK NUT M14x1 D 

34 

037270 INJECTOR 2.70mm NAT C 

037165 INJECTOR 1.65mm LPG C 

037155 INJECTOR 1.55mm BUTANE C 

034450 INJECTOR 4.50mm Town Gas C 

025093 LOCKNUT  

35 
227404 GAS VALVE 21S A 

018790 VALVE MAGNET 21S B 

    

 To SN 1787999

4

Cobra Series Gas Barbeque - to Ser No1787999 Amendment 5



 

   

 Amendment 5

                        ©  Copyright Moffat Ltd.  01 May 2018

 To SN 1787999

5

Cobra Series Gas Barbeque - to Ser No1787999



 

8 

  ©  Copyright Moffat Ltd.  01 May 2018 

 

Number of units in service  

A 1-5 

B 5-10 

C 10-50 

D 50+ 

Item Part No. Description *RPL 

1 010990 ADJUSTABLE BULLET FOOT 38mm D 

2 227852 LEG PLATE 5/8" THREAD D 

3 229674 REAR ROLLER ASSEMBLY D 

4 229671 LEG RING PLATE THREADED D 

5 229883 SIDE PANEL LH D 

6 240682 FRAME WA 900 CB9 D 

7 240700 INNER RADIATION PANEL 900 D 

8 240696 SPLASHBACK CB9 D 

9 240697 BACK PANEL BBQ 900 D 

10 233729 BURNER SUPPORT D 

11 230441 BURNER C 

12 229869 BBQ GRATE CASTING D 

13 230587 COBRA BADGE WA D 

14 240659 HOB FRONT WA 900 D 

15 240699 CONTROL PANEL D 

17 229882 SIDE PANEL RH D 

18 240701 DRIP TRAY CB9 C 

19 240695 BASE PANEL 900  

    

 To SN 1787999

6

Cobra Series Gas Barbeque - to Ser No1787999 Amendment 5



 

   

 

Number of units in service  

A 1-5 

B 5-10 

C 10-50 

D 50+ 

Item Part No. Description *RPL 

20 227182 BBQ SUPPLY TUBE SA D 

21 227187 MANIFOLD D 

22 019464K PILOT BURNER SIT 3-WAY A 

23 

018971 PILOT INJECTOR 0.30 LPG A 

018972 PILOT INJECTOR 0.45 NAT A 

026393 PILOT INJECTOR 0.75 Town Gas A 

24 019218 THERMOCOUPLE 450MM A 

25 230319 FLEX TUBE STST 12" D 

26 227404 GAS VALVE 21S A 

27 230608 KNOB ASSY BBQ-TOASTER-GRIDDLE B 

28 022686 6" FLEXITUBE D 

29 227375 INJECTOR CONNECTOR D 

30 025093 LOCK NUT M14x1 D 

31 

037155 INJECTOR 1.55mm BUTANE C 

037165 INJECTOR 1.65mm LPG C 

037270 INJECTOR 2.70mm NAT C 

037450 INJECTOR 4.50mm Town Gas C 

32 017803 OLIVE 10MM BRASS D 

33 017804 NUT - 10mm STEEL D 

Amendment 5

                        ©  Copyright Moffat Ltd.  01 May 2018

 To SN 1787999

7

 Cobra Series Gas Barbeque - to Ser No1787999


